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1 VsLV cqdysV izkIr djrs gh mls Hkyh izdkj tk¡p ys fd dksbZ ist fcuk fizaV ds u gks vkSj fdlh  

  izdkj dh dksbZ =qfV u gks- ;fn ,slk gS rks rqjar VsLV cqdysV cnyok yssaA 

2 d`i;k /;ku nssa fd ijh{kkFkhZ vius jksy uacj vkSj vU; tkudkjh lgh vkSj mfpr LFkku ij fcuk fdlh  

  =qfV ds HkjsaA 

3 vki viuk jksy uacj fn, x, ckWDl esa gh fy[ksaA 

4 bl VsLV cqdysV esa dqy 100 iz’u fn, gSaA Unit I To Unit IV ( 25 questions is each unit) 25 iz’u izR;sdA     

  Unit 2 ls Unit 4 rd lHkh iz’u fgUnh vkSj vaxzsth nksuksa Hkk’kkvksa esa fn, x, gSaA izR;sd iz’u ds 4   

  fodYi gSa muesa ls tks vkidks lgh yxs og vki mRrj iqfLrdk ¼OMR½esa ntZ djsaA fdlh Hkh fLFkfr  

  esa ,d ls T;knk fodYiksa dk p;u u djsaA  

5 lHkh iz’uksa ds mRrj mRrj iqfLrdk ¼OMR½ esa gh vafdr djsaA 

6 lHkh iz’uksa ds vad leku gSA 

7 jQ odZ ds fy, VsLV cqdysV ds var esa [kkyh ist fn, x, gSsaA 

8 lHkh iz’uksa ds tokc nsus ds ckn tc ijh{kk iw.kZ gks tk;s rc mRrj iqfLrdk ¼OMR½ rFkk VsLV cqdysV  

  oh{kd dks lqiqnZ dj nsaA 

tc rd vkidks ;g VsLV cqdysV [kksyus dks u dgk tk, rc rd u [kksysa 
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English   

(1-5). Choose the appropriate conjunction to complete  

 the sentence. 

1) I want to finish my work _____ we go out. 

   (a) Until     (b) while     (c) before   (d) as soon as 

2) She is going to look after the cat ____ I’m away on 

holiday. 

  (a) Until     (b) while    (c) before   (d) after 

3) I’ll e-mail you ____ I arrive. 

  (a) as soon as  (b) until     (c) as long as   (d) while 

4) We’ll find a hotel ______ we arrive in Jakarta. 

  (a) until  (b) while     (c) when  (d) as long as 

5) Don’t cross the road ____ you see the green man. 

  (a) as long as (b) as soon as (c) while  (d) until 

(6-10). Choose the correct phrasal verbs to complete the  

sentence. 

6) Lenny didn’t _____ when his superior reprimanded him. 

       (a) back up            (b) back down     

       (c) back over        (d) larger text 

7) After the tragic accident, Lauren’s mother had a  

    nervous______ . 

      (a) break up            (b) break down 

      (c) break through   (d) large test 

8) He could feel the back of his beck ______ when they  

    started talking about the tragedy. 

(a) burn on    (b) burn in    (c) burn up    (d) burn out 

9) Everyone could see by the grimace on his face that he  

    didn’t _____ the meal in front of him. 

    (a) care on  (b) care for (c) care of  (d) care off 

10) He didn’t __ to new concept easily. 

         (a) catch on             (b) catch up  

         (c) catch with  `(d) caught 

(11-13).  ANTONYMS- Choose the correct Antonyms 

11) OSTENTATION 

      (a) Boast  (b) splurge   (c) modesty  (d) swank 

12) SPREAD 

      (a) gather   (b) expansion    (c) scatter    (d) scope 

 

 

13) ARROGANCE 

      (a) Atrocity           (b) Hardiness   

      (c) Assumption    (d) Humility 

(14-15). SYNONYMS – Choose the correct synonyms 

14) PHILANTHROPIC 

     (A) Unkind (b) Unjust (c) Kind    (d) none 

15) PRECARIOUSLY 

       (a) Haltingly                    (b) Hesitatingly    

       (c)Both (a)and (b)           (d)None 

(16-20) Read the passage carefully and fill in the blanks 

with appropriate words given below. 

     The food here is quite good although the menu is quite 

___(16)___ . I must admit that whenever I’ve eaten at that 

restaurant, I’ve always come away feeling ___(17)___ 

satisfied. I promise you that dining here will be really an 

____(18)___ experience for you. There’s something about 

the ___(19)___ of that particular dish that makes it 

memorable. It can be very irritating when the waiter 

___(20)___  to bring what you have ordered. 

16) (a) elementary (b)basic   (c) easy  (d) fundamental 

17) (a) completely (b) usually       (c) quickly       (d) full 

18) (a) excitable     (b) excite         (c) exciting      (d) excite 

19) (a) flavor         (b) flavored     (c) flavoring    (d) flavors 

20) (a) forgot         (b) forgets  (c) forgetting   (d) forgotten  

(21-25) Fill in the blanks by choosing the correct forms 

of verbs given below. 

21) Ah there you ________! I wondered where you were. 

      (a) be    (b) Were   (c) are  (d) have been 

22) He told them he ________ starting work the next day. 

         (a) will be          (b) will have bee   

         (c) would be      (d) would have been  

23) It’s time we _________ . 

      (a) go   (b) went   (c) are going   (d) going 

24) I’ve just _______ that the price has grown up again. 

      (a) am told   (b) have told  (c) been told  (d) was told 

25) Before you telephoned, I ______ watching television. 

       (a) was   (b) will be    (c) am   (d) have 

 

GENERAL KNOWLEDGE      
26) Which one of the following pairs is correctly 

matched? 
A. UNESCO : Geneva 
B. MF : Paris 
C. ILO : Washington 
D. UNIDO : Vienna  

27) The number of Judges in the International Court 
of Justice is? 

A. 11 
B. 15  
C. 18 
D. 7 

 

lkekU; Kku      
 

26) fuEyfyf[kr esa ls dkSulk ;qXe lgh lqesfyr gS\ 

la;qDrjk"Vªª l?ka% eq[;ky; 

A. UNESCO: जेनेवा 

B. IMF: पेररस 

C. ILO: वाश िंगटन 

D. UNIDO: शवएना 

27) अन्तरााष्ट्र ीय न्यायालय में न्यायाधी  िं की सिंख्या है- 

A. 11 

B. 15 

C. 18 

D. 7 

 



28) The instrument that measures and records the 
relative humidity of air is? 

A. Hydrometer 
B. Hygrometer  
C. Lactometer 
D. Barometer 

29) The shape of our Milky Way galaxy is? 
A. circular 
B. elliptical 
C. spiral  
D. None of the above 

30) The fundamental scientific principle in the 
operation of battery is? 

A. acid-base interaction 
B. dialysis 
C. dissociation of electrolytes  
D. oxidation-reduction 

31) Instrument used to measure the force and 
velocity of the wind is? 

A. Ammeter 
B. Anemometer  
C. Altimeter 
D. Audiometer 

32) Which combination of colour is the most 
convenient during day and night time? 

A. Orange and blue 
B. White and black 
C. Yellow and blue 
D. Red and green  

33) Woollen clothes keep the body warm because 
A. Wool increases the temperature of the 

body 
B. Wool is a bad conductor  
C. Wool absorbs radiant heat from outer 

objects 
D. Wool rejects heat from the outer objects 

34) Afla-toxins are produced by 
A. bacteria 
B. fungi 
C. viruses 

D. algae 

35) How many elected members in Upper house? 

A. 250 

B. 238 

C. 245 

D. 248 

36) According to the UN convention on the rights of 
the child which amidst the following is NOT a 
right? 

A. Social security 
B. Employment 
C. Protection from exploitation 
D. Education 

 

28) वायु की सापेक्ष आर्द्ाता का मापन एविं ररकार्ा करने वाला 

उपकरण है 

A. हाइर्र  मीटर 

B. हाइग्र मीटर 

C. लैक्ट मीटर 

D. बैर मीटर 

 

29) हमारी आका गिंगा की आकृशत है 

A. वृत्ताकार 

B. दीर्ावृत्ताकार 

C. स्पाइरल 

D. उपयुाक्त में से क ई नही िं 

30) बैटरी के प्रचालन का मूल शसद्ािंत है 

A. अम्ल आधाररत अिंतरशिया 

B. अप हन (र्ायलाइशसस) 

C. शवद्युत-अपर्ट्य 

D. उपापचयन 

31) fuEyfyf[kr esa ls og midj.k dkSulk gS ftldk 

iz;ksx iou ds cy ,oa osx dks ekius ds fy, fd;k 

tkrk gS\ 

A. ऐमीटर 

B. ऐनेम मीटर 

C. अल्टीमीटर 

D. आशर्य मीटर 

32) शनम्नशलखित में से कौन -सा रिंग lEfeJ.k शदन और रात  

      के समय सवााशधक सुशवधाजनक ह ता है? 

A. नारिंगी और नीला 

B. शे्वत और काला 

C. पीला और नीला 

D. लाल और हरा 

33) ऊनी कपडें  रीर क  गमा रिते हैं  ,ि िंशक  

A. ऊन से  रीर का तापमान बढ़ जाता है 

B. ऊन कुचालक ह ती है 

C. ऊन बाह्य पदाथों से Åष्मा का अव  षण कर लेती 

है 

D. ऊन बाह्य पदाथों से Åष्मा ग्रहण नही िं करती है 

34) एफ्ला शवष (nixotalfA) शकससे बनते हैं? 

A. जीवाणु 

B. कवक 

C. शवषाणु 

D.  ैवाल 

35) राज्यसभा में शनवााशचत सदस् िं की अशधकतम सिंख्या शकतनी 

है? 

A. 250 

B. 238 

C. 245 

D. 248 

36) बाल अशधकार िं पर सिंयुक्त राष्ट्र  कन्वें न के अनुसार 

शनम्नशलखित में से वह िा है ज  अशधकार नही िं हैं? 

A. सामाशजक सुरक्षा 

B. र जगार 

C.   षण से सिंरक्षण 

D. श क्षा 

 



37) What is the maximum time interval permitted 
between two sessions of Parliament? 

A. 4 months 
B. 6 months 
C. 8 months 
D. 9 months 

 

38) The item ‘Education’ belongs to the : 
A. Union List 
B. State List 
C. Concurrent List.   
D. Residuary Subjects 

39)  Note issuing system followed in India is : 
A. Maximum fiduciary system 
B. Minimum reserve system.    
C. Proportional fiduciary system 
D. Fixed fiduciary system 

 
40) During colonial period, British capital was mainly 

invested in : 
A. Infrastructure 
B. Industry 
C. Agriculture.     
D. Services 

41) Which among the following Indian States do not 
transact business through Reserve Bank of India? 

A. Sikkim 
B. Jammu and Kashmir.     
C. Himmchal Pradesh 
D. Mizoram 

 

42) Devaluation of money means: 
A. decrease in the internal value of money 
B. decrease in the external value of money 
C. decrease in both internal and external 

value of money 
D. the government takes back currency notes 

of any denominations 
 

43) Who invented the video tape? 
A. Richard James 
B. Charles Ginsberg  
C. P.T. Farnsworth 
D. Georges De Mestral 

 
44) Who invented the polio vaccine (oral)? 

A. Jonas Salk  
B. Albert Sabin 
C. Burkholder 
D. Robert Koch 

 
 
 
 

37) सिंसद के द  सत् िं के बीच शनम्नशलखित में से अशधक से 

अशधक शकतने समय का अन्तराल शदया जा सकता है? 

A. 4 मास 

B. 6 मास 

C. 8 मास 

D. 9 मास 

 

38)  ‘श क्षा’ का शवषय 

A. सिंर्ीय सूची में है 

B. राज्य सूची में है 

C. समवती सूची में है 

D. अवश ष्ट् शवषय िं में है 

 

39) Hkkjr esa uksV tkjh djus dh dkSulh iz.kkyh viukbZ 

tkrh gS? 

A. अशधकतम प्रत्ययी प्रणाली 

B. नू्यनतम आरक्षण प्रणाली 

C. आनुपाशतक प्रत्ययी प्रणाली 

D. शनयत प्रत्ययी प्रणाली 

40) vkSifuosf’kd dky ds nkSjku] fuEyfyf[kr esa ls og 

{ks= dkSu lk Fkk] ftlesa eq[;r% fczfV’k iw¡th dk 

fuos’k fd;k tkrk Fkk\ 

A. आधार-सिंरचना 

B. उद्य ग 

C. कृशष 

D. सेवाएिं  

   14  ) शनम्नशलखित में से वह राज्य कौन सा है  ,शजसका शवत्तीय    

          लेनदेन भारतीय ररजवा बैंक के माध्यम से नही िं शकया जाता  

           है? 

A. शसखिम 

B. जमू्म और कश्मीर 

C. अरुणाचल प्रदे  

D. शमज रम 

 

  14 मुर्द्ा के अवमूल्यन से अशभप्राय हैैः 

A. मुर्द्ा के आन्तररक-मूल्य में कमी 

B. मुर्द्ा के बाहरी मूल्य में कमी 

C. मुर्द्ा के बाहरी और आन्तररक द न िं ही मूल्य में 

कमी 

D. शकसी मूल्य के करेन्सी न ट का सरकार द्वारा वापस 

ले लेना 

 

  43) वीशर्य  टेप’ का आशवष्कार शकसने शकया था 

A. ररचर्ा जेम्स ने 

B. चार्ल्ा शगन्सबगा ने 

C. पी. टी. फन्स्वथा ने 

D. जाजेस द मेस्ट्र ाल ने 

 

44) iksfy;ks Vhds (eq[kh;) dk vUos’k fdlus fd;k Fkk\ 

A. ज नास साल्क 

B. अल्बटा सैशबन 

C. बका ह ल्डर 

D. राबटा क च 

 



45) Which among the following events occurred first? 
A. John Logy Baird demon strated first 

television 
B. Alexander Flemming discovered penicillin  
C. Telecast of talking pictures on television 

by BBC 
D. Jonas E. Salk developed first polio vaccine 

 
46) Who among the following developed World Wide 

Web (WWW), which gave a new type of 
information exhibition? 

A. Bob Cohen 
B. Tim Berners-Lee  
C. Robert Morris Jr. 
D. Michel Derstuses 

47) Who is considered the father of Sahatara (Sitar)? 
A. MianTansen 
B. Baiju Bawara 
C. Amir Khusro  
D. Bade Ghulam All Khan 

 
48) Which has been the field of activity of Pt. 

Bhimsen Joshi ? 
A. Literature 
B. Classical music (Vocal) 
C. Education 
D. Journalism 

 
49) Where did the dance form “Mohini Attam” 

dvelop? 
A. Manipur 
B. Kerala  
C. Karnataka 
D. Tamil Nadu 

 
50) Which among the following is a martial dance? 

A. Kathakali 
B. Bamboo dance of Meghalaya 
C. Chhau of Mayurbhanj  
D. Bhangra of Punjab 

 
Maths        

 
51) A sum of money is to be divided equally amongst A, B, 

and C in the respective ratio of 3:4:5 and another sum 
of money is to be divided between E and F equally. If F 
got Rs 1050 less than A, how much amount did B 
receive? 

a. Rs 750 
b. Rs 2000 
c. Rs 1500 
d. Cannot be determined  

 
 

 14 शनम्नशलखित में से कौन सी र्टना पहले र्टी ? 

A. जान ल गी बेयर्ा ने प्रथम टेलीशवजन का प्रद ान 

शकया 

B. अलेके्जण्डर फलेशमिंग ने पेशनशसलीन की ि ज की 

C. बी.बी.सी. द्वारा टी.वी. पर ब लते हुए शचत् िं का सबसे 

पहला प्रसारण 

D. ज नास ई. साल्क ने प शलय  का पहला टीका 

शवकशसत शकया 
 

46) fuEyfyf[kr esa ls og O;fDr dkSu lk gS] ftlus lwpuk   

    izn’kZu dk u;k :i l`ftr fd;k ftls Word Wide  
       Web dgk tkrk gS\ 

A. ब ब िौन 

B. शटम बरनसा-ली 

C. राबटा म ररस जूशनयर 

D. माइकल रे्रटूजस 
 

47) lgrkjk flrkj dk tud fuEufyf[kr esa ls   

   fdldks le>k tkrk gS\ 

A. शमयााँ तानसेन 

B. बैजू बावरा 

C. अमीर िुसर  

D. बडे गुलाम अली िााँ 
 

48) ia- Hkhelsu tks’kh ds fdz;kdyki dk {ks= D;k jgk  

    gS\ 

A. साशहत्य 

B.  ास्त्रीय सिंगीत (गायन) 

C. श क्षा 

D. पत्काररता 
 

49) u`R; ds ^^eksfguh vV~Ve^^ :i dk fodkl dgk¡  

    gqvk Fkk\ 

A. मशणपुर में 

B. केरला 

C. कनााटक में 

D. तशमलनारु् में 
 

50) fuEufyf[kr esa ls ;q) lac/kha u`R; dkSulk gS\ 

A. कथकली 

B. मेर्ालय का बिंबू नृत्य 

C. मयूरभिंज का छाओ 

D. पिंजाब का भााँगडा 
 

xf.kr 

 

51) /ku dh ,d veqd jkf’k A B vkSj C ds chp dze’k% 3%4%5 

ds vuqikr esa ckaVh tkuh gS] /ku dh ,d vkSj jkf’k E vkSj 

F ds chp cjkcj&cjkcj ckaVh tkuh gSA ;fn F dks A ls 

1050 :- de feys gSa rks B dks fdruh jkf’k feyh\ 

a. Rs 750 
b. Rs 2000 
c. Rs 1500 
d. Cannot be determined  

 
 
 



52) Gold is 19 times as heavy as water and copper is 9 
times heavy. In what ratio must these metals be mixed 
so that the mixture may be 15 times as heavy as 
water? 

a. 2 : 3 
b. 3 : 2  
c. 1 : 3 
d. 2 : 1 

53) In a mixture of 45 litres, the ratio of milk and water is 
3 : 2. How much water must be added to make the 
ratio 9 : 11? 

a. 10 litres 
b. 15 litres  
c. 17 litres 
d. 20 litres 

 
54) Two taps can fill a tank in 12 and 18 minutes 

respectively. Both are kept open for 2 minutes and the 
first is turned off. In how many minutes more will the 
tank be filled? 

a. 15 min. 
b. 20 min. 
c. 11 min. 
d. 13 min.      

55) Two pipes A and B can fill a cistern in 10 and 15 
minutes respectively. Both pipes are opened together, 
but at the end of 3 minutes, ‘B’ is turned off. How 
much time will the cistern take to fill? 

a. 6 min 
b. 8 min  
c. 10 min 
d. 12 min 

56) The sum of the interior angles of a polygon is 1620°. 
The number of sides of the polygon are 

a. 9 
b. 11  
c. 15 
d. 12 

57) The greatest number of four digits which is divisible by 
15, 25, 40 and 75 is : 

a. 9000 
b. 9400 
c. 9600.      
d. 9800 

58) What value should come in place of the question 
mark?  

                 (28 - 10  )1/2 – (7+ 4  )-1/2 = ? 

a) 4 
b) 5 
c) 3.   
d) 4.3 

59) What value should come in place of the question 
mark?   

  (2.3)2 – 0.04 ? 
   2.1 x 1.25 

a. 2.    
b. 1.5 
c. 1.45 
d. 1/1 

52) lksuk] ikuh ls 19 xquk vkSj rkack ikuh ls 9 xquk Hkkjh gSA 

bu /kkrqvkssa dks fdl vuqikr esa feyk;k tkuk pkfg, fd 

feJ.k ikuh ls 15 xquk Hkkjh gks\ 

a. 2 : 3 
b. 3 : 2  
c. 1 : 3 
d. 2 : 1 

53) 45 लीटर के एक शमश्रण में, दूध और पानी का अनुपात 3:2 है। 

इसमें शकतना पानी शमलाया जाये शक अनुपात 9:11 ह  जाये? 

a. 10 litres 
b. 15 litres  
c. 17 litres 
d. 20 litres 

 
54) nks uy fdlh Vadh dks dze’k% 12 vkSj 18 feuV esa Hkj 

ldrk gSA nksuksa uy 2 feuV ds fy, [kksy fn, tkrs gS 

vkSj fQj igys uy dks can dj fn;k x;kA vc Vadh dks 

Hkjus esa vkSj fdrus feuV yxsaxs\ 

a. 15 min. 
b. 20 min. 
c. 11 min. 
d. 13 min.      

 
55) nks ikbi A vkSj B fdlh Vadh dks dze’k% 10 feuV vkSj 

15 feuV esa Hkj ldrk gSA nksuksa ikbi dks ,d lkFk [kksy 

fn;k x;k ysfdu 3 feuV ds ckn ikbi B dks can dj 

fn;k x;kA Vadh dks Hkjus esa fdruk le; yxsxk\ 

a. 6 min 
b. 8 min  
c. 10 min 
d. 12 min 

56) शकसी बहुभुज के अिंतैःक ण िं का य x 1620 gSA cgqHkqt dh 

Hkqtkvksa dh la[;k D;k gksxh\ 

a. 9 
b. 11  
c. 15 
d. 12 

57) pkj vadks dh og lcls cM+h la[;k Kkr djsa tks 15] 25] 

40 vkSj 75 ls foHkkftr gks tk,% 

a. 9000 
b. 9400 
c. 9600.      
d. 9800 

58) iz'u fpUg (?) ds LFkku ij D;k vk,xk\ 

      (28 - 10  )1/2 – (7+ 4  )-1/2 = ? 

a) 4 
b) 5 
c) 3.   
d) 4.3 

59) iz'u fpUg (?) ds LFkku ij D;k vk,xk\ 

  
  (2.3)2 – 0.04    ? 
   2.1 x 1.25 

a. 2.    
b. 1.5 
c. 1.45 
d. 1/1 

 



60) What value should come in place of the question 
mark? 
1.236 × 10¹⁵ – 5.23 × 10¹⁴ =? 

a) 7.13 × 10¹⁴.   
b) 7.13 × 10¹⁵ 
c) 71.3 × 10¹⁴ 
d) -3.994 

61) What value should come in place of the question 
mark?  

                                   (0.03)2 + (0.21)2 + (0.065)2      ? 
       (0.003)2  + (0.21)2  + (0.0065)2  

a) 0.1 
b) 10.     
c) 10² 
d) 10³ 

62) What value should come in place of the question 
mark?  
9821 – [48 + {12 × (153 + 24)}] =? 

a) 9312 
b) 8647 
c) 8749 
d) 7649.    

63) The population of a town was 48600. It increased by 
25% in the first year and decreased by 8% in the 
second year. What will be the population of the town 
at the end of 2 years? 

a. 65610 
b. 55580 
c. 60750 
d. 55890.     

64) There are 1850 employees in an organization. Out of 
this 38% got transferred to different places. How 
many such employees got the transfer? 

a. 740 
b. 723 
c. 703.  
d. 717 

65) The population of a town is 126800. It increases by 
15% in the 1st year and decreases by 20% in the 2nd 
year. What is the population of the town at the end of 
2 years? 

a) 174984 
b) 135996 
c) 116656     
d) 145820 

66) Mahesh invests an amount of Rs 8,560@ 4% p.a. for 2 
years. What approximate amount of compound 
interest will he obtain at the end of 2 years? 

a. Rs 684 
b. Rs 689 
c. Rs 645 
d. Rs 698 

67) What would be the compound interest obtained on an 
amount of Rs 3,000 at the rate of 8% p.a. after 2 
years? 

a) Rs 501.50 
b) Rs 499.20  
c) Rs 495 
d) Rs 510 

60) iz'u fpUg (?) ds LFkku ij D;k vk,xk\ 

1.236 × 10¹⁵ – 5.23 × 10¹⁴ =? 
a) 7.13 × 10¹⁴.   
b) 7.13 × 10¹⁵ 
c) 71.3 × 10¹⁴ 
d) -3.994 

61) iz'u fpUg (?) ds LFkku ij D;k vk,xk\ 

  
                                   (0.03)2 + (0.21)2 + (0.065)2      ? 

       (0.003)2  + (0.21)2  + (0.0065)2  

 

a) 0.1 
b) 10.     
c) 10² 
d) 10³ 

62) iz'u fpUg (?) ds LFkku ij D;k vk,xk\ 

9821 – [48 + {12 × (153 + 24)}] =? 
a) 9312 
b) 8647 
c) 8749 
d) 7649.    

63) ,d 'kgj dh tula[;k 48600 gSA igys o"kZ esa ;g 25% 

c<+h vkSj nwljs o"kZ esa ;g 8% ?kVhA nks o"kZ ds var esa 'kgj 

dh tula[;k fdruh gksxh\ 

a. 65610 
b. 55580 
c. 60750 
d. 55890.     

 
64) ,d laxBu esa 1850 deZpkjh gSaA buesa ls 38% dk 

rcknyk vyx&vyx LFkkuksa ij gks x;kA ,sls fdrus 

deZpkfj;ksa dk rcknyk gqvk\ 

a. 740 
b. 723 
c. 703.  
d. 717 

65) ,d 'kgj dh tula[;k 126800 gSA igys o"kZ esa ;g 15% 

c<+h vkSj nwljs o"kZ esa ;g 20% ?kVhA nks o"kZ ds var esa 

'kgj dh tula[;k fdruh gksxh\ 

a) 174984 
b) 135996 
c) 116656     
d) 145820 

66) egs’k 8560 :- dh jkf’k 4% izfr o"kZ dh nj ls 2 o"kZ ds 

fy, fuos’k djrk gSA 2 o"kZ ds ckn mls चिवृखद् C;kt dh 

yxHkx fdruh jkf’k izkIr gksxh\ 

a. Rs 684 
b. Rs 689 
c. Rs 645 
d. Rs 698 

67) nks o"kZ ckn 8% izfr okf"kZd dh nj ls 3000 :- dh jkf’k 

ij fdruk चिवृखद् C;kt feysxk\ 

a) Rs 501.50 
b) Rs 499.20  
c) Rs 495 
d) Rs 510 

 
 



68) Pamela invested an amount of Rs 35,000 for two year 
at the rate of 5% p.a. What amount of compound 
interest would she receive at the end of two year? 

a. Rs 3587.50 
b. Rs 3500 
c. Rs 3580.50 
d. Rs 3565.50 

69) Shyam invests an amount of Rs 5,690 at the rate of 5 
per cent per annum for 3 years. What approximate 
amount of compound interest will he obtain at the 
end of 3 years? 

a) Rs 897 
b) Rs 799 
c) Rs 843 
d) Rs 787 

 
70) What amount of compound interest can be obtained 

on an amount of Rs 4,500 at the rate of 4% p.a at the 
end of 2 years? 

a) Rs 360 
b) Rs 358.40 
c) Rs 367.20 
d) Rs 350 

71) By selling an article for Rs 96, double profit is obtained 
than the profit that would have been obtained by 
selling it for Rs 84. What is the cost price of the 
article? 

a. Rs 72.00 
b. Rs 75.00 
c. Rs 70.00 
d. Rs 68.00 

72) The owner of an electronics shop charges his 
customer 22% more than the cost price. If a customer 
paid Rs 10,980 for a DVD player, then what was the 
cost price of the DVD player? 

a) Rs 8000 
b) Rs 8800 
c) Rs 9500 
d) Rs 9000 

73) The owner of a stationery shop charges his customers 
28% more than the cost price. If a customer paid Rs 
4544 for school books, then what was the cost price of 
the school books? 

a. Rs. 3550 
b. Rs. 3500 
c. Rs. 3450 
d. Rs. 3400 

74) The owner of a toy shop charges his customers 33% 
more than the cost price. If the customer paid Rs. 
4,921 for a toy, then what was the cost price of the 
toy? 

a) Rs 3,850 
b) Rs 3,700  
c) Rs 3,550 
d) Rs 3,900 

 
 
 
 

68) ifeyk us 35000 :- nks o"kZ ds fy, 5% dh nj ls fuos’k 

fd;kA 2 o"kZ ds ckn mls चिवृखद् C;kt ds :i esa fdruh 

jkf’k izkIr gksxh\ 

a. Rs 3587.50 
b. Rs 3500 
c. Rs 3580.50 
d. Rs 3565.50 

 
69) ’;ke 5690 :- dk 5% izfr o"kZ dh nj ls 3 o"kZ ds fy, 

fuos’k djrk gSA 3 o"kZ ds var esa mls चिवृखद् C;kt dh 

yxHkx fdruh jkf’k feyrh gS\ 

a) Rs 897 
b) Rs 799 
c) Rs 843 
d) Rs 787 

 

70) Rs 4,500 की राश  पर 4 प्र. .प्र.व. की दर से 2 वषा के अिंत 

में शकतना चिवृखद् ब्याज शमल सकता है? 
a) Rs 360 
b) Rs 358.40 
c) Rs 367.20 
d) Rs 350 

71) एक वसु्त क  48 s1 में बेचने पर शजतना लाभ प्राप्त ह ता है 

उससे दुगुना लाभ उस वसु्त क  48 sR में बेचने पर ह ता है। 

वसु्त का िय मूल्य िा है? 
a. Rs 72.00 
b. Rs 75.00 
c. Rs 70.00 
d. Rs 68.00 

 
72) ,d इलेक्टर ाशनक dh nqdku dk ekfyd vius xzkgd dks 

ykxr dher ls 22% vf/kd izHkkj yxkrk gSA ,d xzkgd 

us ,d DVD Iys;j ds fy, 10980 :- vnk fd, rks DVD 
Iys;j dh ykxr dher D;k gS\ 

a) Rs 8000 
b) Rs 8800 
c) Rs 9500 
d) Rs 9000 

73) ,d nqdkunkj 600:- esa 10 fdxzk pkoy [kjhnrk gS vkSj 

bls 2 fdxzk pkoy ds fodz; ewY; ds cjkcj gkfu ij csp 

nsrk gS] izfr fdxzk pkoy dk fodz; ewY; Kkr djsaA 

a. Rs. 3550 
b. Rs. 3500 
c. Rs. 3450 
d. Rs. 3400 

 
74) f[kykSus dh ,d nqdku dk ekfyd xzkgd ls ykxr dher 

ls 33 izfr’kr vf/kd ysrk gSA xzkgd us ,d f[kykSus ds 

fy, 4921:- vnk fd,] rks f[kykSus dh ykxr dher D;k 

gS\ 

a) Rs 3,850 
b) Rs 3,700  
c) Rs 3,550 
d) Rs 3,900 

 
 
 
 
 



75) Pinku, Rinku and Tinku divide an amount of Rs 4,200 
amongst themselves in the ratio of 7:8:6 respectively. 
If an amount of Rs 200 is added to each of their 
shares, what will be the new respective ratio of their 
shares of amount? 

a. 8 : 9 : 6 
b. 7 : 9 : 5 
c. 7 : 8 : 6 

d. 8 : 9 : 7 

75) fiadw fjadw vkSj fVadw vkil esa 4200:- dh jkf’k dze’k% 

7%8%6 ds vuqikr esa ckaVrs gSaSSA buesa ls izR;sd ds fgLls esa 

200:- tksM+s tk,a] rks mudh jkf’k ds fgLlksa dk u;k 

vuqikr dze’k% D;k gksxk\ 

a. 8 : 9 : 6 
b. 7 : 9 : 5 
c. 7 : 8 : 6 
d. 8 : 9 : 7  

 
 

 
  

Reasoning 
 
(76-78) Choose the missing terms out of the given 
alternatives. 

 

 76.  AZ, GT, MN, ?, YB  
       A. KF    B. RX          C. SH D. TS  
    

 77.  AZ, CX, FU, ?  
       A. IR    B. IV          C. JQ D. KP  
    

 78.  AZ, BY, CX, ?  
       A. EF             B. GH          C. IJ D. DW   
 79. Which one does not belong to the group? 

A. Mica 
B. Zinc 
C. Iron 
D. Chlorine.  

80. Which one does not belong to the group? 
A. Red 
B. Pink.   
C. Violet 
D. Yellow 

81. Which one does not belong to the group? 
A. Bat.   
B. Spider 
C. Butterfly 
D. Cockroach 

82. Pen : Writer : : ……. : Batsman 
A. Brush 
B. Fighter 
C. Stick 
D. Bat.   
E.  

83. Candle : Wax :: Paper : ? 
A. Wood 
B. Tree 
C. Bamboo 
D. Pulp.  

84. Producer : Film :: Author : ? 
A. Food 
B. Newspaper 
C. Book.   
D. Poem 

rdZ 'kfDr 
 

(76-78) iz'u okpd dh txg vkus okys fodYi dk p;u djsa 

 

76.  AZ, GT, MN, ?, YB  
       A. KF    B. RX          C. SH D. TS  
    

 77.  AZ, CX, FU, ?  
       A. IR    B. IV          C. JQ D. KP  
    

 78.  AZ, BY, CX, ?  
       A. EF             B. GH          C. IJ D. DW  
 
 79.   crk,a fd buesa ls dkSulk vU; ls fHkUu gS& 

A. अभ्रक 

B. शजिंक 

C. आयरन 

D. क्ल रीन 

80. crk,a fd buesa ls dkSulk vU; ls fHkUu gS& 

A. लाल 

B. xqykch 

C. cSaxuh  

D. पीला 

81. crk,a fd buesa ls dkSulk vU; ls fHkUu gS& 

A. चमगादड 

B. मकडी 

C. शततली 

D. शतलचट्टा 

82. dye :  ys[kd : : ……….  :  cYysckt  

A. ब्र  

B. सेनानी 

C. NM+h  

D. बल्ला 

83.  eksecRrh :  ekse : : dkxt :  ?  

A. लकडी 

B. पेड 

C. बािंस 

D. पल्प 

84. fuekZrk : fQYe : : ys[kd : \ 

A. भ जन 

B. अिबार 

C. पुस्तक 

D. कशवता 



 
85. EXCURTION is coded as CXEURTNOI, SCIENTIST     
      will be coded in the same manner as : 

A. TSIICSNTE 
B. ICSNTETSI 
C. ICSTNETSI.   
D. ICSNTEIST 

 
86. In a certain code language ‘PULSE’ is written as  
     ‘DRKTO’ and ‘NEW is written as ‘VDM’. How will  
     ‘PROBES’ be written in that code language? 

A. RDANQO.   
B. QSPCFT 
C. TFCPSQ 
D. OPNADR 

87. In a certain code NAMES is written as TFNBO.     
      How is CRANE written in that code? 

A. FMBQD 
B. DSBOF 
C. FOBSD.   
D. FBODS 

88. Pointing to a photograph of Hari, Vijay said, “The  
      father of his sister is the husband of my wife’s  
      mother”. How is Vijay related to Hari? 

A. Brother 
B. Brother-in-law.     
C. Uncle 
D. Data inadequate 

89. Pointing to a photograph, Arun said, ‘She is the  
      mother of my brother’s son’s wife’s daughter.’  
      How is Arun re­lated to the lady? 

A. Uncle.    
B. Daughter-in-law 
C. Cousin 
D. Brother 

90. Introducing Ramprakash, Nilama said, “His  
      brother’s father is the only son of my  
      grandfather”. How Nilama is related to  
      Ramprakash? 

A. Sister.  
B. Daughter 
C. Mother 
D. Niece 

 
91. Which character when placed at the sign of  
       interrogation shall complete the chart? 

3 6 8 
5 8 4 
4 7 ? 

A. 6.    
B. 7 
C. 8 
D. 9 

 

 

85. ;fn fdlh lkadsfrd Hkk"kk esa EXCURTION dks 
CXEURTNOI fy[kk tkrk gS rks mlh Hkk"kk esa SCIENTIST dks 

fdl izdkj fy[kk tk,xk\ 

A. TSIICSNTE 
B. ICSNTETSI 
C. ICSENTTSI 
D. ICSNTEIST 

 
86. ;fn fdlh lkadsfrd Hkk"kk esa NEW dks VDM ,oa PULSE 
dks DRKTO fy[kk tkrk gS rks mlh Hkk"kk esa PROBES dks fdl 

izdkj fy[kk tk,xk\ 

A. RDANQO 
B. QSPCFT 
C. TFCPSQ 
D. OPNADR 

87. ;fn fdlh lkadsfrd Hkk"kk esa dks NAMES dks TFNBO 
fy[kk tkrk gS rks mlh Hkk"kk esa CRANE dks fdl izdkj fy[kk 

tk,xk\ 

A. FMBQD 
B. DSBOF 
C. FOBSD 
D. FBODS 

88. gfj ds QksVksxzkQ dh vksj b’kkjk djrs gq, fot;  

   dgrk gSS fd mldh cgu ds firk esjh iRuh dh ekrk  

   ds ifr gS rks v:.k dk ml efgyk ls D;k laca?k gS\ 

A. भाई 

B. जीजा/साला 

C. अिंकल 

D. र्ाटा अपयााप्त 

89. ,d QksVksxzkQ dh vksj b'kkjk djrs gq, v:.k us dgk  

    fd ^og esjs HkkbZ ds csVs dh ifRu dh iq=h dh Ekk¡ gS^A  

    v:.k dk ml efgyk ls D;k lac/ka gS\ 

A. चाचा 

B. बहु 

C. चचेरा 

D. भाई 

90. jkeizdk’k dk ifjp; djokrs gq, uhye cksyh] fd  

   mlds HkkbZ ds firk esjs nknk th dk bdykSrk iq= gS]rks  

   crk,a uhye dk jkeizdk’k ls D;k laca/k gS\ 

A. बहन 

B. पुत्ी 

C. मााँ 

D. भतीजी 

 
91. fuEufyf[kr esa iz’uokpd fpg~u ds LFkku ij dkSulh  

   la[;k vk;sxh\ 

3 6 8 
5 8 4 
4 7 ? 

A. 6.    
B. 7 
C. 8 
D. 9 

 



92.  Which character when placed at the sign of  
        interrogation shall complete the chart? 

1    12      10 
15     2        ? 

                   8        5        3 
a) 9         
b) 11       
c) 4  
d) 6 

 
93. Which character when placed at the sign of  
       interrogation shall complete the chart? 

6 9 15 
8 12 20 
4 6 ? 

A. 5 
B. 10.    
C. 15 
D. 21 

 

94. Sobha was facing East. She walked 20 metres.  
      Turning left she moved 15 metres and then  
      turning right moved 25 metres. Finally, she turned  
      right and moved 15 metres more. How far is she  
      from her starting point? 

A. 25 metres 
B. 35 metres 
C. 50 metres 
D. 45 metres.  
 

95. Jatin leaves his house and walks 12 km towards  
      North. He turns right and walks another 12 km. He  
      turns right again, walks 12 km more and turns left  
     to walk 5 km. How far is he from his home and in  
     which direction? 

A. 7 km East 
B. 10 km East 
C. 17 km East.   
D. 24 km East. 
 

96. Deepak starts walking straight towards east. After  
      walking 75 metres, he turns to the left and walks  
      25 metres straight. Again he turns to the left,  
      walks a distance of 40 metres straight, again he  
      turns to the left and walks a distance of 25  
      metres. How far is he from the starting point ? 

A. 25 metres 
B. 50 Metres 
C. 115 Metres 
D. 35 Metres.    

 

 
 

92. fuEufyf[kr esa iz’uokpd fpg~u ds LFkku ij dkSulh  

   la[;k vk;sxh\ 

1          12 10 
15 2 ? 
8 5 3 

(a) 9 
(b) 11 
(c) 4.     
(d) 6 

 
93. fuEufyf[kr esa iz’uokpd fpg~u ds LFkku ij dkSulh  

   la[;k vk;sxh\ 

6 9 15 
8 12 20 
4 6 ? 

A. 5 
B. 10.    
C. 15 
D. 21 

 

94. 'kksHkk dk eq[k iwoZ fn’kk dh vksj FkkA og 20 ehVj pyrh 

gSA fQj ck;ha vksj 15 ehVj gS fQj nk;ha vksj eqM+rh gS fQj 

nk;ha vksj eqM+rh gS vkSj 25 ehVj pyrh gSA fQj nk;ha vksj 

eqM+dj 15 ehVj vkSj pyrh gSA rks crkvks og vius izkjafHkd 

fcUnq ls fdruh nwjh ij gS\ 

A. 25मीटर 

B. 35 मीटर 

C. 50 मीटर 

D. 45 मीटर 

 

95. tfru vius ?kj ls fudydj 12 fdeh- mRrj dh vksj 

pyrk gS vkSj nk;ha vksj 12 fdeh- vkSj pyrk gSA og iqu% 

nk;ha vksj eqM+rk gS vkSj 12 fdeh pydj fQj ck;ha vksj 5 

fdeh pyrk gS] rks og vius ?kj ls fdruh nwjh ij fdl fn’kk 

esa gS\ 

A. 7 शकमी iwoZ  

B. 10 शकमी iwoZ 

C. 17 शकमी iwoZ 

D. 24 शकमी iwoZ 

 

96. nhid iwoZ dh vksj lh/ks pyuk izkjaHk djrk gSA 75 ehVj 

pyus ds ckn og ck;ha vksj eqM+dj 25 ehVj lh/ks pyrk gSA 

og fQj ck;ha vksj eqM+dj 40 ehVj pyrk gSA iqu% og ck;ha 

vksj eqM+dj 25 ehVj pyrk gSA og izkjafHkd fcUnq ls fdruh 

nwjh ij gS\ 

A. 25 मीटर 

B. 50 मीटर 

C. 115 Metres 

D. 35 Metres. 

 

 

 

 



 
(97-100) what symbol will come on the place  
of question mark?   
97. 

  
        A. 1 B. 2 C. 3 D. 4  
 
98. 

   
       A. 1 B. 2 C. 3 D. 4    

99.  

         

       A. 1 B. 2 C. 3 D. 4  
     
100.  

   
      A. 1  B. 2 C. 3 D. 4  
 

(97-100) iz’uokpd fpUg ds LFkku ij dkSulk fpUg vk,xk 

97- 

  
 
     A. 1  B. 2 C. 3 D. 4  
 
 
98. 

   
     A. 1  B. 2 C. 3 D. 4   
  

99.  

         

     A. 1  B. 2 C. 3 D. 4   
   
100.  

   
    A. 1  B. 2 C. 3 D. 4  

 
 

 
 

     
 


